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𝛀 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐) (𝟏 +
𝟏−𝒙

𝟏+𝒙
𝒆𝒙)

𝟏

−𝟏

𝒅𝒙 

 
Proposed by Abbaszade Yusif-Azerbaijan 

Solution by Alireza Askari-Iran 
 

𝛀 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐) (𝟏 +
𝟏−𝒙

𝟏+𝒙
𝒆𝒙)

𝟏

−𝟏

𝒅𝒙 =⏟
𝒙→−𝒙

∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)𝒆𝒙

𝒙(𝟏 + 𝒙𝟐) (𝒆𝒙 +
𝟏+𝒙

𝟏−𝒙
)
𝒅𝒙

𝟏

−𝟏

= 𝑰 

𝟐𝑰 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

−𝟏

𝒅𝒙 

= ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟎

−𝟏

𝒅𝒙 +∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 = 𝑨 + 𝑩 = 

𝑨 =⏟
𝒙→−𝒙

∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙    &      𝑩 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 

𝟐𝑰 = 𝑨 +𝑩 = 𝟐∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 →
𝑰

𝟒
= ∫

(𝐥𝐧(𝒙))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 ⇒ 𝐈 =? 

𝑰

𝟒
= ∫

(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −∫
𝒙(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 𝛀 −𝚿 

𝛀 = ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∫𝒙𝒂−𝟏

𝟏

𝟎

𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙

=
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟎

∫𝒙𝒂+𝟐𝒏

𝟏

𝟎

𝒅𝒙 

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)(𝒂 + 𝟐𝒏 + 𝟏)

∞

𝒏=𝟎

= 𝟐∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 𝟐𝛃(𝟒) 

𝚿 = ∫
𝒙(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟

𝒙→
𝟏

𝒙

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏 (

𝟏

𝒙
)

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 



 

=
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 −∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 

=
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 − ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 +∫

(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

∞

𝟎

 

𝚿 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 −∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 +

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −𝚿 

𝟐𝚿 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 − ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 +

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 𝑴−𝑵+ 𝛀 

𝛀 = 𝟐𝛃(𝟒) 

𝑴 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏

𝒙

𝝅

𝟐

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑(−𝟏)𝒏
∞

𝒏=𝟎

∫𝒙𝟐𝒏+𝒂+𝟏

𝟏

𝟎

𝒅𝒙 = 

=
𝝅

𝟐

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

𝒂 + 𝟐𝒏 + 𝟐

∞

𝒏=𝟎

= −
𝝅

𝟖
∑

(−𝟏)𝒏

(𝒏)𝟑

∞

𝒏=𝟏

= −
𝝅

𝟖
∑

−𝟑

𝟒𝒏𝟑

∞

𝒏=𝟏

=
𝟑𝝅𝜻(𝟑)

𝟑𝟐
= 𝑴 

𝑵 = ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 ⇛ 𝒇(𝒂) =

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎

⇛ 𝒇(𝟏) = 𝑵 

(𝐅𝐞𝐲𝐧𝐦𝐚𝐧 𝐭𝐫𝐢𝐜𝐤} →
𝒅

𝒅𝒂
𝒇(𝒂) =

𝒅

𝒅𝒂
∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎

= ∫
𝝏

𝝏𝒂
(
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
)𝒅𝒙

∞

𝟎

 

𝒅

𝒅𝒂
𝒇(𝒂) = ∫

(𝒍𝒏𝒙)𝟐

(𝟏 + (𝒂𝒙)𝟐)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 =
𝒂𝟐

𝒂𝟐 − 𝟏
∫

(𝒍𝒏𝒙)𝟐

𝟏 + (𝒂𝒙)𝟐

∞

𝟎

𝒅𝒙 −
𝟏

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙

= 𝑲− 𝑯 

𝑲 =
𝒂𝟐

𝒂𝟐 − 𝟏
∫

(𝒍𝒏𝒙)𝟐

𝟏 + (𝒂𝒙)𝟐

∞

𝟎

𝒅𝒙 =⏟
𝒂𝒙→𝒙

𝒂

𝒂𝟐 − 𝟏
∫
(𝐥𝐧 (

𝒙

𝒂
))

𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 = 

𝒂

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 −
𝟐𝒂𝒍𝒏(𝒂)

𝒂𝟐 − 𝟏
∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 +
𝒂(𝒍𝒏𝒂)𝟐

𝒂𝟐 − 𝟏
∫

𝟏

𝒙𝟐 + 𝟏

∞

𝟎

𝒅𝒙 

{𝒏𝒐𝒕𝒆: ∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∫(𝐭𝐚𝐧𝒙)𝒂 𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

𝟏

𝟐
𝜷(
𝒂 + 𝟏

𝟐
∙

𝝅

𝟐

𝟎

𝟏 − 𝒂

𝟐
=
𝝅𝟑

𝟖
} 



 

{
 

 
𝒏𝒐𝒕𝒆: ∫

𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝏

𝝏𝒂
|
𝒂=𝟎

∫(𝐭𝐚𝐧 𝒙)𝒂 𝒅𝒙 =
𝝏

𝝏𝒂
|
𝒂=𝟎

𝟏

𝟐
𝜷(
𝒂 + 𝟏

𝟐
∙

𝝅

𝟐

𝟎

𝟏 − 𝒂

𝟐
= 𝟎

}
 

 
 

𝑯 =
𝟏

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝅𝟑

𝟖(𝒂𝟐 − 𝟏)
 

=⏟
𝒇(𝟎)=𝟎 & 𝒇(𝟏)=𝑵

 𝒇(𝟏) = ∫𝒅𝒇(𝒂) =

𝟏

𝟎

∫(𝑲− 𝑯)𝒅𝒂 =

𝟏

𝟎

𝝅𝟑

𝟖
∫

𝒅𝒂

𝒂 + 𝟏

𝟏

𝟎

+
𝝅

𝟐
∫
𝒂(𝒍𝒏𝒂)𝟐

𝒂𝟐 − 𝟏

𝟏

𝟎

𝒅𝒂 

𝑵 = 𝒇(𝟏) =
𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅

𝟐

𝝏𝟐

𝝏𝒃𝟐
|
𝒃=𝟎

∑∫𝒂𝟐𝒏+𝒃+𝟏

𝟏

𝟎

𝒅𝒂

∞

𝒏=𝟎

 

𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅

𝟐

𝝏𝟐

𝝏𝒃𝟐
|
𝒃=𝟎

∑
𝟏

𝟐𝒏+ 𝒃 + 𝟐

∞

𝒏=𝟎

=
𝝅𝟑

𝟖
𝐥𝐧(𝟐) − 𝝅∑

𝟏

𝟖𝒏𝟑
=

∞

𝒏=𝟏

𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅𝜻(𝟑)

𝟖
= 𝑵 

𝑰 = 𝟒𝛀 − 𝟒𝚿 = 𝟒𝛀− 𝟒(
𝑴

𝟐
−
𝑵

𝟐
+
𝛀

𝟐
) = 𝟐𝛀 − 𝟐𝑴+ 𝟐𝑵 

𝑰 = 𝟒𝜷(𝟒) −
𝟑𝝅

𝟏𝟔
𝜻(𝟑) +

𝝅𝟑

𝟒
𝒍𝒏(𝟐) −

𝝅

𝟒
𝜻(𝟑) 

𝐀𝐍𝐒𝐖𝐄𝐑 = 𝑰 =
𝝍(𝟑)(

𝟏

𝟒
)

𝟏𝟗𝟐
−
𝝅𝟒

𝟐𝟒
−
𝟕𝝅

𝟏𝟔
𝜻(𝟑) +

𝝅𝟑

𝟒
𝒍𝒏(𝟐) 

 

{𝐧𝐨𝐭𝐞 𝐬𝐞𝐜𝐭𝐢𝐨𝐧} 

𝜷(𝟒) =
𝝍(𝟑)(

𝟏

𝟒
)

𝟕𝟔𝟖
−
𝟖𝝅𝟒

𝟕𝟔𝟖
 

 
 
 
 


